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dirac_testm +

close all
clear

clc

t -5:8.1:5;
d double(t==8);
plot(t,d)
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6 d = dirac(t); 02}
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1 close all
2 clear
3 clc
4
> t = -5:0.1:5;
6 u = heaviside(t);
7 plot(t,u)
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close all
clear
clc

t = -5:0.1:5;
u heaviside(t-2);
plot(t,u)
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close all
clear
clc

syms t;
y = heaviside(t);
fplot(y)
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close all
clear
clc

syms t€;
y = heaviside(t-2);
fplot(y)
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y = exp(t)
[ comvepen] | owrestm o+

1 close all
2 clear
3 clc
4
5 t = -5:8.1:5;
6 y = exp(t);
7 plot(t,y)
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_J exp_testm 0 L + l

close all
clear
clc

syms t;

y = exp(t);
fplot(y)
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rectangularPulse (t/2*a)
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rect_testm +
1 close all
2 clear
3 clc
4
5 + = '5:9.31:5_;
& f = rectangularPulse(t/5);
7 plot(t,f)
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rect_test.m +
1 close all
2 clear
3 clc
4
5 syms t;
6 f = rectangularPulse(t/5);
7 fplot(f)
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triangularPulse (t/2*a)
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tri_test.m +

1 close all

2 clear

3 clc

4

5 t = -5:9.01:5;

6 f = triangularPulse(t/2);
7 plot(t,f)
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tri_test.m +

1 close all

2 clear

3 clc

4

5 syms t;

6 f = triangularPulse(t/2);

7 fplot(f)
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sinc_test.m +

1 close all

clear

clc

t = -5:8.01:5;
f = sinc(t);
plot(t,f)
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_J sinc_testm ¢ L + L

1 close all

2 clear

3 clc

4

5 syms t;

6 f = sinc(t);
7 fplot(f)
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r(t) = fu(t)dt
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ramp_testm +

1 close all

2 clear

3 clc

4

5 syms t;

6 f = int(heaviside(t));
7 fplot(f)
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